
Es,s = Vssσ

Es,x = lVspσ

Ex,x = l2Vppσ + (1− l2)Vppπ

Ex,y = lmVppσ − lmVppπ

Ex,z = lnVppσ − lnVppπ

Es,xy =
√
3lmVsdσ

Es,x2−y2 =
√
3
2 (l2 −m2)Vsdσ

Es,3z2−r2 = [n2 − (l2 +m2)/2]Vsdσ

Ex,xy =
√
3l2mVpdσ +m(1− 2l2)Vpdπ

Ex,yz =
√
3lmnVpdσ − 2lmnVpdπ

Ex,zx =
√
3l2nVpdσ + n(1− 2l2)Vpdπ

Ex,x2−y2 =
√
3
2 l(l2 −m2)Vpdσ + l(1− l2 +m2)Vpdπ

Ey,x2−y2 =
√
3
2 m(l2 −m2)Vpdσ −m(1 + l2 −m2)Vpdπ

Ez,x2−y2 =
√
3
2 n(l2 −m2)Vpdσ − n(l2 −m2)Vpdπ

Ex,3z2−r2 = l[n2 − (l2 +m2)/2]Vpdσ −
√
3ln2Vpdπ

Ey,3z2−r2 = m[n2 − (l2 +m2)/2]Vpdσ −
√
3mn2Vpdπ

Ez,3z2−r2 = n[n2 − (l2 +m2)/2]Vpdσ +
√
3n(l2 +m2)Vpdπ

Exy,xy = 3l2m2Vddσ + (l2 +m2 − 4l2m2)Vddπ + (n2 + l2m2)Vddδ

Exy,yz = 3lm2nVddσ + ln(1− 4m2)Vddπ + ln(m2 − 1)Vddδ

Exy,zx = 3l2mnVddσ +mn(1− 4l2)Vddπ +mn(l2 − 1)Vddδ

Exy,x2−y2 = 3
2 lm(l2 −m2)Vddσ + 2lm(m2 − l2)Vddπ + [lm(l2 −m2)/2]Vddδ

Eyz,x2−y2 = 3
2mn(l2 −m2)Vddσ −mn[1 + 2(l2 −m2)]Vddπ +mn[1 + (l2 −m2)/2]Vddδ

Ezx,x2−y2 = 3
2nl(l

2 −m2)Vddσ + nl[1− 2(l2 −m2)]Vddπ − nl[1− (l2 −m2)/2]Vddδ

Exy,3z2−r2 =
√
3
[
lm(n2 − (l2 +m2)/2)Vddσ − 2lmn2Vddπ + [lm(1 + n2)/2]Vddδ

]
Eyz,3z2−r2 =

√
3
[
mn(n2 − (l2 +m2)/2)Vddσ +mn(l2 +m2 − n2)Vddπ − [mn(l2 +m2)/2]Vddδ

]
Ezx,3z2−r2 =

√
3
[
ln(n2 − (l2 +m2)/2)Vddσ + ln(l2 +m2 − n2)Vddπ − [ln(l2 +m2)/2]Vddδ

]
Ex2−y2,x2−y2 = 3

4 (l
2 −m2)2Vddσ + [l2 +m2 − (l2 −m2)2]Vddπ + [n2 + (l2 −m2)2/4]Vddδ

Ex2−y2,3z2−r2 =
√
3
[
(l2 −m2)[n2 − (l2 +m2)/2]Vddσ/2 + n2(m2 − l2)Vddπ + [(1 + n2)(l2 −m2)/4]Vddδ

]
E3z2−r2,3z2−r2 = [n2 − (l2 +m2)/2]2Vddσ + 3n2(l2 +m2)Vddπ + 3

4 (l
2 +m2)2Vddδ
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